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Question Id : 92090625307 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

fArAfafad Y & smuR W Uyl & IR e -

gieal ¥ 3FH 3R ufdyr theq ardl 39 ardedl 3 W itdd o9 & 79 | o)
I3t g1, FeaT SR [y o & § 6 7o oieg 89 &1 0aR A giall SR @l
ISR 1 WHR $I B UKd ol dfHd AR oI Ui & Hg Jrsdl g1 A9l HT ISR
YNUEH HaRI T Gg [dAY FA @Al ¢1 91d dP dRdiddal ®1 el UgdiH dd del
a1 @1 FHmior 781 e S, gida feam arar Gg 396 faviy &1 ISR gl &, [ 9 &
B A8l g

BRI H YHIGETE] WRBR & dle HH-YUR 1] §UI 89RI Uhsi & Y Arfcrs
Gl B SHHE BiFaR Y feaEl @1 & oF @ h wfedt @ dfd ok aiftd YR
fErami ¥ o/F Fel — 39 WH &I FHF | § 4 §19 Uhs qH @ o), @ s A odTd 31 - derd
fael $ad! U B A R FHedll By HR A7 3R, 1 Iod B 3T H Fe g! HAHd W
&1 bl 1 Sd1d &1l | dial-dran g ¢l wnfgu fdt &t safi

Sub questions

Question Number : 1 Question Id : 92090625308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S{efayr A arell dredl A o1 Y, et 3R [y el o &3 82

(1) A ufas & A (2) NS H A
(3) W UIfSd & & | | @) TPIFiFHAH
Options :

920906100001. 1
920906100002. 2
920906100003. 3
920906100004. 4

Question Number : 2 Question Id : 92090625309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I & ISR 1 WIHR H3 &1 d4R T8l 62

(1) oH 2) &
(3) g (4) 44
Options :

920906100005. 1
920906100006. 2
920906100007 3
920906100008. 4

Question Number : 3 Question Id : 92090625310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B # YA YR & 1] gU?

(1)  YHEAK] WER & 9l 2) FUY IR $ 9l
(3) SO W¥PR & dIg 4) Thgd WER H dIg
Options :

920906100009. 1
920906100010. 2
920906100011. 3
920906100012. 4

Question Number : 4 Question Id : 92090625311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

weId faa dad &1 1 3 82

(1)  HAFI 9elgd &1 &1 gl (2) ATEAIUS Bl gl
) GRO THARTST IS Al (4) T TS Hal gl

Options :

920906100013. 1
920906100014. 2
920906100015. 3
920906100016. 4



Question Number : 5 Question Id : 92090625312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfdd G aren Wg fhas fady &1 RieR g2

() o€ 98 gad AT Iredi g | (2) ToFR 98 gad g1 AEar gl
(3) g 98 g 78 AT Frgar g (4) T8 371 wedm e 3|

Options :

920906100017. 1
920906100018. 2
920906100019. 3
920906100020. 4

Question Id : 92090625307 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

FAfafad Teiw & SR W Ui & IR e -

giedi ¥ 3 iR sfufay™ T arell 39 didal 3 W Wifsd o9 & 79 | o
At g1, FeaTl iR [ayr o & § 6 (oW oieg 89 @1 daR T8 giall SR @l
ISR g WeHR $3 B Uxd el dfed SHfUER & wiftg & He Orsdl g1 9 $1 RIeR
YU aRI 1 Gg [dAY FA @Al ¢1 o/d d dRdiddwal &1 Hel g dUd dal
o1 &1 Aoy 1€ frar o, gfdd Rar arer @g 39% 3Ry &1 RIeR g g, 7 98 gaa
BN Il B

B H GHISEE] TR & 91 YH-JUR aF gU| g9kl Udhe! & Yl wifes
Gl B ol e Yt feael &1 4 o it afedl 9 9 o fta e
a9 o/d Fel — 39 GH B T 4 4 619 v o d o), @ P A 9a1d 391 - agia
faell Fad! g 1 SHH W Foall HY R 2 3R, T oG B M H Sl g! AW W
W1 6l 1 Sfd1d 37| dia-dian g =81 Fifgu fadt &t sl

Sub questions

Question Number : 1 Question Id : 92090625308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sfefasra Temm arell dredl A 3 He, et 3R fayra el o fad g2

(1) A wfas & AT H (2) NS S HAH
(3) UM UIfSd oH & A H 4y fPaAId A H
Options :

920906100001. 1
920906100002. 2
920906100003. 3
920906100004. 4

Question Number : 2 Question Id : 92090625309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R T ISR 1 WHR 6 B 9UR Tl 22

(1) oH 2 &
(3) g (4) S4O4
Options :

920906100005. 1
920906100006. 2
920906100007. 3
920906100008. 4

Question Number : 3 Question Id : 92090625310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EMARE # HH YR & 1] gu?

(1) HHSERE! PR & €[5 (2) HEY DR & dlg
(3)  MISUI PR & dIg @4) dIPed WHR & dlg
Options :

920906100009. 1
920906100010. 2
920906100011. 3
920906100012. 4



Question Number : 4 Question Id : 92090625311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wTeId faa daa &1 1 3 &2

(1)  HAHI §gIgd &1 & g (2) AEAITS Hdl g
3) GBI AHARBeNPABIAl  (4) U Hal gl

Options :

920906100013. 1
920906100014. 2
920906100015. 3
920906100016. 4

Question Number : 5 Question Id : 92090625312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hidd 3R are 9g fFae fady 1 ReR 82

(1) 52 98 Yod HYAT AR 2| (2) 58 98 gad ST Iedi ¢
(3) forg 98 Yad 71 S TrgdT | (4) g 31 wedi firer 2

Options :

920906100017. 1
920906100018. 2
920906100019. 3
920906100020. 4

Sub-Section Number : 2
Sub-Section Id : 920906814
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090625313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafefad # @ arae @f fafgd $ifee

1y (2) ™
3 < @ U
Options :

920906100021. 1
920906100022. 2
920906100023. 3
920906100024. 4

Question Number : 6 Question Id : 92090625313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa 7 @ arae @l Rt Fifu:

(1) @ (2)
(3 < 4 U
Options :

920906100021. 1
920906100022. 2
920906100023. 3
920906100024. 4

Question Number : 7 Question Id : 92090625314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hare H &1 | I 87

1y = (2) §H
3) ¥ 4 91
Options :

920906100025. 1
920906100026. 2
920906100027. 3
920906100028. 4



Question Number : 7 Question Id : 92090625314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty # 19 91 I §?

1y (2 ¥
@3 3 4) 91
Options :

920906100025. 1
920906100026. 2
920906100027. 3
920906100028. 4

Question Number : 8 Question Id : 92090625315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HETG B! Yol &I oIl g1 W F8Tge 31 87

(1) fo (2) HRE
(3) HEl (4) oo
Options :

920906100029. 1
920906100030. 2
920906100031. 3
920906100032. 4

Question Number : 8 Question Id : 92090625315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI B! Gl Bl Il g1 T JgTg &1 82
(1 f (2) BRD
(3) Hal (4) fagmo



Options :

920906100029. 1
920906100030. 2
920906100031. 3
920906100032. 4

Question Number : 9 Question Id : 92090625316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafaa ¥ § SeR Wl # S 91 Wrsg gfew 82

(1) (2) =
(3) ddd @) A
Options :

920906100033. 1
920906100034. 2
920906100035. 3
920906100036. 4

Question Number : 9 Question Id : 92090625316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffafad & @ SHRI Usal H S a1 Wsg Yfewd 1 82

(1) O 2) A<
(3) dHd @ I
Options :

920906100033. 1
920906100034. 2
920906100035. 3
920906100036. 4

Question Number : 10 Question Id : 92090625317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafefad # 9 g 91 vgaie:

(1) UP g urE are | (2) U Ul & e ansi|
(3) U frdrd ur-l &1 aredl| (4) Ul &1 UE e arsi|
Options :

920906100037. 1
920906100038. 2
920906100039. 3
920906100040. 4

Question Number : 10 Question Id : 92090625317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=fafad @ 9 g 9/ ugaie:

(1) TP g ur=t ara| (2) U UHl &1 e anai|
(3) U frdrd urEt &1 aredl | 4) Ul &1 uE e arsii
Options :

920906100037. 1
920906100038. 2
920906100039. 3
920906100040. 4

Question Number : 11 Question Id : 92090625318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe 5tan 6=12, Al cosf—sind & HA FTd BifU|

M - Gj. 2

13

1 27

3 -— 4] —

(3) 3 (4) 20
Options :

920906100041. 1



920906100042. 2
920906100043. 3
920906100044. 4

Question Number : 11 Question Id : 92090625318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fg 5tan #=12, Al cosf—sind B AF FId HifeU|

1 -1 2) —
(1) (2) &
w el gy, 2
(3) 3 4) 20
Options :

920906100041. 1
920906100042. 2
920906100043. 3
920906100044. 4

Question Number : 12 Question Id : 92090625319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofl srafe o 60% FHERI U39 & | FRTTT & UH gA1d T 40% Alemsi aul 60% JSui 4
3= & ua T die fan s ! fire diel &1 ufawrd &:

(1) 42% (2) 50%
(3) 52% (4) 54%
Options :

920906100045. 1
920906100046. 2
920906100047. 3
920906100048. 4

Question Number : 12 Question Id : 92090625319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{4l Frafay ¥ 60% FHAR] YN €| SRTad & TP g1 H 40% Afgesii a4 60% Joui A
3] & ug H die fan| 35 &1 el 91el &1 ufaerd @:

(1) 42% (2) 50%
(3) 52% (4) 54%
Options :

920906100045. 1
920906100046. 2
920906100047. 3
920906100048. 4

Question Number : 13 Question Id : 92090625320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B ST B I I €1 a1 Has [l b1 &l 24 39 T QU1 &d €1 B bl 39 B
@ foba f&a J g v gbmm?

(1) 36 (2) 54
(3) 72 4 90
Options :

920906100049. 1
920906100050. 2
920906100051. 3
920906100052. 4

Question Number : 13 Question Id : 92090625320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B BRIEHA B I AT &1 a1 HadR el 1 & 24 &9 § QU &d €1 B Sidhall 39 &l
@ fdbaH A | g1 6 gabmm?

(1) 36 (2) 54
(3) 72 4) 90
Options :

920906100049. 1



920906100050. 2
920906100051. 3
920906100052. 4

Question Number : 14 Question Id : 92090625321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATUI B S 2:3 B U & adl 39 g 4 : 5 S U H ¢ | afg I7®! a9d HHAL:
% 9,000 94T, ¥ 17,500 €, A A BI 319 F1d Hifeid|

(1) T 12,500 (2) ¥ 25,000
(3) T 37,500 (4) T 50,000
Options :

920906100053. 1
920906100054 2
920906100055. 3
920906100056. 4

Question Number : 14 Question Id : 92090625321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATUIBHI AT 2:3H U & ayl I9d AT 4 : 5 F U § ¢ | IS I7! I9d HHA:
% 9,000 941, ¥ 17,500 €, 1 A B 319 J1d Pifeg|

(M ¥ 12,500 (2) ¥ 25,000
(3) T 37,500 (4) ¥ 50,000
Options :

920906100053. 1
920906100054 2
920906100055. 3
920906100056. 4

Question Number : 15 Question Id : 92090625322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A A <1 axgsil & ¥ UAS B T 4,000 H o971 3R Fal DR I8 9 SIS arH gl IR A
PE g1 T U g 25% T T W1y 31 7T o g avg A9 WA g

2
(1) 20% 2) 18-%
9
9 3
(3) 16 5% (4) 151‘}
Options :

920906100057. 1
920906100058. 2
920906100059. 3
920906100060. 4

Question Number : 15 Question Id : 92090625322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAfem 3 <1 axgsil ¥ @ UAS B T 4,000 ¥ 997 3R $ [AB IY  HIS A1H g3 R A &l
FTS B T T ag 25% T F WY 3 7 o g g §9 W @1 g

2
(1) 20% (2) 18%%
2 3
(3) 16 E% (4) 151%
Options :

920906100057. 1
920906100058. 2
920906100059. 3
920906100060. 4

Question Number : 16 Question Id : 92090625323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s A3 $e U1 §, CHIRCAR @1 3214384 & ¥4 T 3R CROADS ®I 345867 & ¥4 &
Hicd &g STd1 81 39 U1 H HARTROADS &1 e & &4 o fed favar sramm?

(1) 812448567 (2) 281448576
(3) 284145867 (4) 285154876
Options :

920906100061. 1
920906100062. 2
920906100063. 3
920906100064. 4

Question Number : 16 Question Id : 92090625323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& A3 $e U1 H, CHIRCAR @1 3214384 & ®U H 3R CROADS &I 345867 & ¥4 &
@fcd & STdl 81 39 U H HARTROADS &1 e & &4 o fed favar sarm?

(1) 812448567 (2) 281448576
(3) 284145867 (4) 285154876
Options :

920906100061. 1
920906100062. 2
920906100063. 3
920906100064. 4

Question Number : 17 Question Id : 92090625324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 goi 30 [ g9 I uSl &1 g3l & ol &1 610 Jid SIS

(M 65" (2) 750
(3) 850 (4) 105°
Options :

920906100065. 1
920906100066. 2
920906100067. 3
920906100068. 4



Question Number : 17 Question Id : 92090625324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 g 30 T B9 WR Ut 31 Y3di & i &1 S0l Jid Dife|

@) 659 (2) 759
(3) 850 (4) 105°
Options :

920906100065. 1
920906100066. 2
920906100067 3
920906100068. 4

Question Number : 18 Question Id : 92090625325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fu U gw & So-yfdfara ST g g e “VAYU 84 3 6~

(M AVANB4E®Q
(20 AVANBY39
(3) AVANBH3R
4 AVANBTER

Options :

9209061000609. 1
920906100070. 2
920906100071. 3
920906100072. 4

Question Number : 18 Question Id : 92090625325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e gm & Sa-ufafea FT At s Sifce«VAYU 84 3 6

() AVANB4E?Q
2y AVANB® 3@
(3) AVANBWY3Q
4 AVANBTER
Options :
9209061000609. 1
920906100070. 2

920906100071. 3
920906100072. 4

Question Number : 19 Question Id : 92090625326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3P (X) BT HEl qUUI-fcifara AT -
g -
SIPI (X)

@]

(2)

(3)

(4)

Options :
920906100073. 1



920906100074. 2
920906100075. 3
920906100076. 4

Question Number : 19 Question Id : 92090625326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P (X) BT el quu-Ufdfard gHT ;
% -
Mz
SHIA (X)
o
(2)
(3) o
@ o
Options :

920906100073. 1
920906100074. 2
920906100075. 3
920906100076. 4

Question Number : 20 Question Id : 92090625327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 € Sy RU U §: U ity A & w9 ¥ forfed § o gEv 39

PRUR B EUH gl

HUDBYT A :  TH 81 & TR HTHRN H SR I8d ¢, FiTd b9l gdl DI a1 A
T g91 HH TUA 8id! g

FRUIR : AYAHE F&H 91 19 &1 A{dH dedl 6

IR HY & Maid |, A1 AU 10 fdswedi 1 8 9l IR &1 994 Sifou

(1) A SIRRGH 98l € 3R, A P Ul TAT &

(2) A SIRREH HEl € AfPR, A T Ul RS 7ol &
(3) AUER AP RS TR

(4) ARG AfBTRIEE

Options :

920906100077. 1
920906100078. 2
920906100079. 3
920906100080. 4

Question Number : 20 Question Id : 92090625327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 € Sy GU U §: U siftdye A & w9 H forfed § ol gEv 39

PRUR B EUH gl

HUPYT A : THEA F [N SR H FHWR I3d §, Fifd ol gdl & ga-l A
TH a1 HH T 8idl 6

FRUR : A9HHE F&H 9 19 &1 {dH dedl g

TRIFd HYA & i H, A fou U fawedi § 3 9l It &1 994 Sifore
(1) ASIRRGH HEl & 3R, AP Ul A=A &

2) A SR RTH TE € dfba R, A BT HEl AR T8l 8

(3) ATEIR AP R IS T8

(4) ATSTEE AfFTRUER

Options :



920906100077. 1
920906100078. 2
920906100079. 3
920906100080. 4

Question Number : 21 Question Id : 92090625328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty HEmR & fae & fore it agefsr ufden S ERIYE B TR
(1) W4 Riweia (2) Sf18.&. ToRTA

(3) HHEA e 4) ofed faerd) g

Options :

920906100081. 1
920906100082. 2
920906100083. 3
920906100084. 4

Question Number : 21 Question Id : 92090625328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e wemnt & e & for w@ i Tqys ufasm & R IR B T |
(1 ddl RREIE (2) SMS.F. ToRTd

(3) wHREH g (4) ofed fagr areudt

Options :

920906100081. 1
920906100082. 2
920906100083. 3
920906100084 4

Question Number : 22 Question Id : 92090625329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIERA K IC ATk -
Y| - MA3e A el 3 Aviiat I Fues & e Yag iR aig &t =ifa s 4t

HUF Il : IR GHIY 3R HR g8 gl Ha3g A Aol F RaR & Hid 4|
SR HYH & el |, 1 fau 71u fdswed] & 4 Tl I &1 999 $ifeiw

(1) ®UF | 3R 11 el §
(2)  HYFI R 1 EHI TTAd §
(3) HYTI TGS AfbTIHYT I TTAd §
(4) PYTI7Ad g, AlPA BT TSI &
Options :
920906100085. 1
920906100086. 2

920906100087. 3
920906100088. 4

Question Number : 22 Question Id : 92090625329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICEA I AT 1S
DY | - HAIEA el 7 Al § e & o wad ok die @ Aifa sigam <

HYF Il SR G 3R HR g8 gl Har3e A Racroll & GRaR & &id 41
S HYF & 3Mclld 1, 1 fSu v fawedl 1§ 9 9l 3w &1 994 $ifeiw

(1) DY IMRNITA TS
(2)  HYAI R I EH Tad §
(3) ®UFITel g, Afbd YA 11 TTad &
(4) BYTITAd g, Al HUF 11 Tl 8
Options :
920906100085 1
920906100086. 2

920906100087. 3
920906100088. 4



Question Number : 23 Question Id : 92090625330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fpafafad ¥ @ oF W 3 3fEd 9 3 79 TR @ gl

() Rory - gew s (2) fad - am. pwngd
(3) UHed - MRl fiad @) = FR -G el
Options :

920906100089. 1
920906100090. 2
920906100091. 3
920906100092. 4

Question Number : 23 Question Id : 92090625330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fefafad 3 @ o 91 gm 3R © 9 3 3d 981 @i gl

()  Rary - g siar ) faul - 3R, Feongfd
(3) WEed - UGl i (@) "I PR - T el
Options :

920906100089. 1
920906100090. 2
920906100091. 3
920906100092. 4

Question Number : 24 Question Id : 92090625331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & Fry g 11 B e Fifore

- (IF®) g (@rE®)
(A)  3FTeud 3fE (I) SETEREI Ag%
(B) sigurfeass () ST dregd I
© cfewadiameifgmr ) SOfcE G
(D) e Al (V) IS5 wE

19 fau U faeed] O 9 Hel It &1 994 Hifert:

(1) A-(ID), B-(IV), C-(I), D-(II)
2)  A-(ID), B-(IV), C-(I1I), D-(I)
3)  A-(IV), B-(II), C~(I), D-(I1I)
4)  A-(IID), B-IV), C-(I), D-(I)

Options :

920906100093. 1
920906100094. 2
920906100095. 3
920906100096. 4

Question Number : 24 Question Id : 92090625331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & 91y gl 11 61 A Sifse

- (IF®) g (@rE®)
(A)  3FTeud 3fE (I) SETEREI Ag%
(B) sigurfeass () ST dregd I
© cfewadiameifgmr ) SOfcE G
(D) @™ Il (av) % TS

4 fSu U fadedl A A Wl It o1 994 ifee:

(1) A-(ID), B-(IV), C-(I), D-(II)
2)  A-(ID), B-(IV), C-(I1I), D-(I)
3)  A-(IV), B-(II), C~(I), D-(I1I)
4)  A-(IID), B-IV), C-(I), D-(I)

Options :

920906100093. 1
920906100094. 2
920906100095. 3
920906100096. 4

Question Number : 25 Question Id : 92090625332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HiAId dR & dgR &1 3y & fou 7 &1 I fvar Srar g |
(1) BRI 2) R

(3) SRR 4) TR

Options :

920906100097. 1
920906100098. 2
920906100099. 3
920906100100. 4

Question Number : 25 Question Id : 92090625332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

% HiId IR & SIdgR &1 30U & fou T3 &1 IUanT fobar S g |

(1) BEUHR (2) WA
3) e (4) BISZHIR

Options :

920906100097 1
920906100098. 2
920906100099. 3
920906100100. 4

Part B: Data Science Artificial Intelligence

Section Id : 920906502
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906815
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090625333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of subset of a finite set A has 56 more elements then the
total number of subset of another finite set B. What is the number of

elements in set A

. 35
2. 6
3 7
4 8

Options :



920906100101. 1
920906100102. 2
920906100103. 3
920906100104. 4

Question Number : 26 Question Id : 92090625333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! ultfid =g A § Q¥ Jung=dl i e fadt gar aifia a9=a 8
T IugHE] b GBI ¥ 56 HfUd dd (Efemcn) g1 99w A J adl
ferien) & Fem fea 87

2w oo
oo =~ & W

Options :

920906100101. 1
920906100102. 2
920906100103. 3
920906100104. 4

Question Number : 27 Question Id : 92090625334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the maximum number of different Boolean function involving n

Boolean variables?

e

n
j]’l
Eﬂ

“

-l

"rn:
Options :
920906100105. 1
920906100106. 2
920906100107. 3
920906100108. 4



Question Number : 27 Question Id : 92090625334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

n oA =R (@RuEe) A fa siftean S8 T S-S gferg haH
& 9&hd g2

. n

2. 2"

2 2
& 32

Options :

920906100105. 1
920906100106. 2
920906100107. 3
920906100108. 4

Question Number : 28 Question Id : 92090625335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the cardinality of a set A is 4 and that of a set B is 3, then what is the
cardinality of the set AAB? where A is difference.

p

25

;0§

4. can't be determined

Options :

920906100109. 1
920906100110. 2
920906100111. 3
920906100112. 4

Question Number : 28 Question Id : 92090625335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el aa= A St SIS 4 8 3R Y=Y B 1 3 § ol 9H=T AAB B
ifsmee fara grft? oel a U SiaR (FEiw) Udle B

- L

| B
R
3.
4. g1 [FoTd Tdhd|
Options :

920906100109. 1
920906100110. 2

920906100111. 3
920906100112. 4

Question Number : 29 Question Id : 92090625336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If you want to retain the first 4 bits of given string of 8 bits and complement
the last 4 bits then the correct mask and the operation should be

1. XOR and 00001111

2. XOR and 11110000

3. AND and 00001111

4. OR and 11110000

Options :

920906100113. 1
920906100114. 2
920906100115. 3
920906100116. 4

Question Number : 29 Question Id : 92090625336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3R 31U Ugd 4 faey fdi fau gu 8 faeyd & [’ &1 a9 3@ 918 § SR
3ifc 4 fored &1 R (FAMGHSH) T ¢ df T1 ARS R SRR (H0E)
g

1. XOR 3{R 00001111
XOR 3R 11110000
3. AND 3{R 00001111
4. OR 3R 11110000

o

Options :

920906100113. 1
920906100114. 2
920906100115. 3
920906100116. 4

Question Number : 30 Question Id : 92090625337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A mapping 7: R—Rwhich is defined as f(x)=cos x, x ER is

1. one- one only
2. onto only
3. neither one - one nor onto
4. one - one and onto

Options :

920906100117. 1

920906100118. 2

920906100119. 3
920906100120. 4

Question Number : 30 Question Id : 92090625337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

hﬂﬁﬁﬂwmﬁm F i E—aR@f%ﬁﬂﬁH%ﬂx}:cmerR
1. g9-g 3ffal
2. 3H9el et
3. AZeR 949-9 AR 3
4. g-94 3fRR el

Options :



920906100117. 1
920906100118. 2
920906100119. 3
920906100120. 4

Question Number : 31 Question Id : 92090625338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement |: Let a and b be integers, not both zero and let d be their
greatest common divisor, then there are integers r and s such that d= ra+sb
Statement lI: A pair, a,b of integers is relatively prime if and only if there are
integers r and s such that ra+sb= 1
In the light of the above statements, choose the correct answer from the
options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4.

Statement | is false but Statement Il is true

Options :

920906100121. 1
920906100122. 2
920906100123. 3
920906100124. 4

Question Number : 31 Question Id : 92090625338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R S wy Rumu #:
91 |: 7T a 3R b & YUlids (gAfewR) §, W6l 4 =0 78l g1, 3R 39&
TETH WHRI HIEE €, 6 r 3R s IUIH ST UBR U € d = ra+sb
T 11: a 3R b QUi & wire1 Rafead g g afe +ik Rk afg quife
rﬁﬁ?ﬁﬂﬂﬂﬂ?ﬁﬁ% ra+sb= 1
I & 1 & SMUR W T8 gl IR 1

1. S 9194 | 37X 9T 1| 981 &

2. SH aTe | 3R 919 1 TTAd g

3. 9799 | Yel & 3R 9/ 11 TTeld g |

4. 9T | 7T © SR 9Ty 11 HEl 8

Options :

920906100121. 1
920906100122. 2
920906100123. 3
920906100124. 4

Question Number : 32 Question Id : 92090625339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A = {a, b, c} and R={(a,a).(a,b).(b,c).(b,b), (c,c). (c.a)} is a binary relation on A
then which one of the following is correct?

1. Ris reflexive and symmetric but not transitive

2. R is reflexive and transitive but not symmetric

3. Ris reflexive but neither symmetric nor transitive

4. Ris reflexive ,symmetric and transitive

Options :

920906100125. 1
920906100126. 2
920906100127. 3
920906100128. 4

Question Number : 32 Question Id : 92090625339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gid A = {a, b, ¢} 3R R={(a,a).(a,b).(b,c).(b,b), (c.0), (c.a)} T TS FIZ-R Ty
A A IS wE &2
1. R Rucfeay ofR Rfes g W cifafey =i g
R Rroifaay ofR ciforfey § W faafe® =8t g1
3. R Ry § w1 o Rmifcs ¢ ok =1 &l sy g1
4. R Ruifegy, Rafes sk Tifdfey g1

i

Options :

920906100125. 1
920906100126. 2
920906100127. 3
920906100128. 4

Question Number : 33 Question Id : 92090625340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a reqular language?
1. L=fa"bla*>n=1lorl+k}
2 L=farbl:n< 1}
3. L={a"bla: k#n+1}
|

4, L={ar bm: n>2, m = 3}

Options :

920906100129. 1
920906100130. 2
920906100131. 3
920906100132. 4

Question Number : 33 Question Id : 92090625340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

90 9 B TP VR a6 82
L=larblat: n=1lorl#k}
L=la"bl:n< 1}
L=larbak#+n+1}

L=lg"bm:n=2 m=>23

| S

= Lo

Options :



920906100129. 1
920906100130. 2
920906100131. 3
920906100132. 4

Question Number : 34 Question Id : 92090625341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following string does not belong to the set of strings
represented by regular expression (a+b)* (ab+bba)

1. ababababab

2. ababababbba

3. ababbbbb

4. ababaaaaaab

Options :

920906100133. 1
920906100134. 2
920906100135. 3
920906100136. 4

Question Number : 34 Question Id : 92090625341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 9 HIF-91 1 AU 78 W[eR UaleH (a+b)* (ab+bba) d Hdt gl
LHdl|

1. ababababab

2. ababababbba
3. ababbbbb
4,

Ababaaaaaab

Options :

920906100133. 1
920906100134. 2
920906100135. 3
920906100136. 4

Question Number : 35 Question Id : 92090625342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

All regular, context free, context-sensitive, and recursive language are
1. Recursively enumerable
2. Non-recursively enumerable
3. Linear
4. Non- linear

Options :

920906100137. 1
920906100138. 2
920906100139. 3
920906100140. 4

Question Number : 35 Question Id : 92090625342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR U[eR B Wl dieae Vg 3R Reffa v @masen) g & -

1. Roflia sgmiEa
2. 4 Rl ggmad
3, foAmR
4. A fermR

Options :

920906100137. 1

920906100138. 2

920906100139. 3
920906100140. 4

Question Number : 36 Question Id : 92090625343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following context free grammar is in
S—AB

B—CD

B—Ad

B—b

D—AD

D—d

A—b

C—a

Chomsky Normal Form

Greibach Normal Form

Chomsky Normal Form and Greibach Normal Form

B L ha

Neither chomsky nor Greibach Normal Form

Options :

920906100141. 1
920906100142. 2
920906100143. 3
920906100144. 4

Question Number : 36 Question Id : 92090625343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrofeiEa deae Wi sardul (UMY € -
S—AB
B—CD
B—AD
B—b
D—AD
D—d
A—b
C—a
1. =T A BIH
2. W& AiHd Bid
3. GTRI®! ATHA WBIH 3 dad BiH
4. 71 dl ST SR A1 g1 Hide ATHa BiH

Options :
920906100141. 1



920906100142. 2
920906100143. 3
920906100144. 4

Question Number : 37 Question Id : 92090625344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: L= {3" b" c": n 2 o} is a context free language.
Statement II: L= {ww : w €{a,b}*} is not context free.

In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

920906100145. 1
920906100146. 2
920906100147. 3
920906100148. 4

Question Number : 37 Question Id : 92090625344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

APy RUMUE:
A | ; L= {a" b" ™ n = 0} U DI-<Ge Bl HIHT &
I Il L= {ww: w e{a,b}*} UH Blcae Wbl YISl 8] el
SR AU a1l & STYR R T ol S|

1. G 9Ted | 3R 919 11 Tel 8 |

2. Tl 9T | 3R 91 11 TTAd g

3. 9T | 9el ¢ 3R are 11 TTad g |

4. 9199 | 7Tdd § SR 9199 11 921 2

Options :



920906100145. 1
920906100146. 2
920906100147. 3
920906100148. 4

Question Number : 38 Question Id : 92090625345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Non- deterministic pushdown automata can be designed for
the given language L={x"y" z". n = 1}
Statement Il: Non-deterministic pushdown automata can be constructed
for all context-free languages
In the light of the above statements, choose the correct answer from the
options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

920906100149. 1
920906100150. 2
920906100151. 3
920906100152. 4

Question Number : 38 Question Id : 92090625345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i g1 a1y feu e
fHFH YT A: 911 Feerfffes queraa sifeider fiqu gu v & fou feemga
P UDA L={x"y" " n =1}
PRI R: A1 SRS qems sicier 9yl dleae W v & e
&1 Hhdl |
IR U HYAl & 3MYR W T gl IR g |

1. GFTA R RTEI 8 3R R, A H Hel A=A & |

2. @i A 3R R Hel g i R, A &1 Hel e el ¢

3. AYEI g Afb R USRI 81

4. A gl 78l & afd- R 9el 81

Options :

920906100149. 1
920906100150. 2
920906100151. 3
920906100152. 4

Question Number : 39 Question Id : 92090625346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The numbers of 1* in Binary representation of (3x 4096 + 12x256+ 5x16+3)
are

8

9

10

12

-l

Options :

920906100153. 1
920906100154. 2
920906100155. 3
920906100156. 4

Question Number : 39 Question Id : 92090625346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS FREUUT (3% 4096 + 12x256+ 5x16+3) | 1's B T&AT fdbd1 &7
1. 8
2, 9
3 4D

4 12
Options :
920906100153. 1
920906100154. 2

920906100155. 3
920906100156. 4

Question Number : 40 Question Id : 92090625347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the operation which is commutative but not associative?
1. OR

2. NOR
3. EX-OR
4. NAND
Options :
920906100157. 1
920906100158. 2

920906100159. 3
920906100160. 4

Question Number : 40 Question Id : 92090625347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ST ygeH S f Hrgefed § afe voifiefea 8 &2
. OR

MOR

EX—OR

MAND

Awon o

Options :

920906100157. 1
920906100158. 2
920906100159. 3



920906100160. 4

Question Number : 41 Question Id : 92090625348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The decimal number equivalent of (4057.06)s is
2095.75

2095.075

2095937

2095.0937

P L0 B, 4

Options :

920906100161. 1
920906100162. 2
920906100163. 3
920906100164. 4

Question Number : 41 Question Id : 92090625348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRTE 81 Sl (4057.06): & SRIE Bl
2095.75

2095.075

2095.937

2095.0937

= ot e e

Options :

920906100161. 1
920906100162. 2
920906100163. 3
920906100164. 4

Question Number : 42 Question Id : 92090625349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the value of X in the following equation?
(11101101000) 2 + (765)16 = (X)a
1. 3545

2. 7315
3. 1285
4, 4580
Options :
920906100165.
920906100166.

920906100167.
920906100168.

AW N~

Question Number : 42 Question Id : 92090625349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e fou weitevor § X &1 7 &1 g
(11101101000) 2 + (765)15 = (X)s

1. 3545

2. 1315

3. 1285

4. 4580
Options :

920906100165.

920906100166.

920906100167.
920906100168.

AW N~

Question Number : 43 Question Id : 92090625350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the simplified form of Boolean expression represented by Q in the
following circuit?

A ~
B - Q

1. (A+B)-(B-C)+(B+C)
2. AB+AC +BC

3. AB+BC

4. AB + (B+C)(BC)

Options :

920906100169. 1
920906100170. 2
920906100171. 3
920906100172. 4

Question Number : 43 Question Id : 92090625350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q % ERI ST 7 e TFHUH 1 TRAdH FY (BTH) F1 g2

Busmalh) 3>—0

c—=—

1. (A+B)-(B-C)+(B+C)
2. AB + AC +BC

3. AB+BC

4. AB + (B+C) (BC)

Options :

920906100169. 1
920906100170. 2
920906100171. 3



920906100172. 4

Question Number : 44 Question Id : 92090625351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST | lLiST I
A | 1 Zettabyte | I. |1024 Megabytes
B. | 1 Terabyte | Il. [1024*1024 Petabytes
C. | 1 Gigabyte | Il [1024*1024 Megabytes
D. | 1 Petabyte |IV.[1024 Terabytes
1. A-II, B-ll, C-I, D-IV
2. A-ll, B-lll, C-I, D-IV
3. A-IV, B-llI, C-I, D-lI
4. A-ll, B-IV, C-I, D-llI
Options :

920906100173. 1
920906100174. 2
920906100175. 3
920906100176. 4

Question Number : 44 Question Id : 92090625351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foree | 1 fore 1 o 1y Hde ®IIfud &

faee | fer il

A.|19eErEge | 1.]1024 HETECH

B. |1¢erarge  [i.]1024%1024 UeTargcH
C. [17EEe i) 1024+1024 AEEe
D. |1 UeTage M 1024 SESCH

1. A-ll, B-ll, C-I, D-IV
2. A-ll, B-lll, C-I, D-IV
3. A-IV, B-llI, C-I, D-lI
4. A-ll, B-1v, C-l, D-1ll

Options :
920906100173. 1



920906100174. 2
920906100175. 3
920906100176. 4

Question Number : 45 Question Id : 92090625352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the capacity of a two-platter disk unit with 18000 cylinders, an
average of 520 sectors per track, and a sector size of 512 Bytes
1. 17.85GB
2. 18.85GB
3. 16.58 GB
4. 1558 GB
Options :
920906100177. 1
920906100178. 2

920906100179. 3
920906100180. 4

Question Number : 45 Question Id : 92090625352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3] WeR &% e fordes 9y 18000 Riferey forged siigad 520 daeR
Ui ¢ SR U Haex WISl 512 S15¢ P &Hdl i T0HT B
1. 17.85GB
2. 18.85GB
3. 16.58 GB
4. 15.58 GB
Options :
920906100177. 1
920906100178. 2

920906100179. 3
920906100180. 4

Question Number : 46 Question Id : 92090625353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Disk cache is a
1. HDD
2. ROM
3. Random Access Memory
4. Nonvolatile memory

Options :

920906100181. 1
920906100182. 2
920906100183. 3
920906100184. 4

Question Number : 46 Question Id : 92090625353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S Fagae

1. HDD
2. ROM

3. {SH TR A
4. 919 diciersd AH

Options :

920906100181. 1
920906100182. 2
920906100183. 3
920906100184. 4

Question Number : 47 Question Id : 92090625354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A memory system with 32-bit virtual addresses uses 4KB pages and a 128MB
byte-addressable main memory. What is the size of physical address space in
pages?

1. 16K

2. 8K

3. 32K

4 64K



Options :

920906100185. 1
920906100186. 2
920906100187 3
920906100188. 4

Question Number : 47 Question Id : 92090625354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s AR Red 32 foe agerd U39 S 4KB Ul &1 SUdRT $Hdl § SR
128MB T3¢ USHad B4 AHRT &1 it I9gi &ar &1 Ul & deH | fhforea

B W N
it
M
=

Options :

920906100185. 1
920906100186. 2
920906100187. 3
920906100188. 4

Question Number : 48 Question Id : 92090625355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a role of Input / cutput controller?
1. lsolate the CPU and memory from details of 1/O device operation
2. Converts data formats
3. Facilitates expansion in capabilities in I/O devices but impacts CPU
design

4. Manages the speed mismatch between I/O devices

Options :

920906100189. 1
920906100190. 2
920906100191. 3
920906100192. 4



Question Number : 48 Question Id : 92090625355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fufafad & SiF-91 399e/313eye Hi<ier &1 Pl §?
1. Hidg SR AR T oM13/30 4 STREA & a0 J Sev T&1|
2. Sl BRHATH FUaRI
3. 3fgy/3h 4t H wursiiferdt gfg &1 thfafere war g afe didig
f&Tg IR 3R &l ¢
4. 3MT3/301 U3 & ufd 7Ifd Al &I Uafid Sl g

Options :

920906100189. 1
920906100190. 2
920906100191. 3
920906100192. 4

Question Number : 49 Question Id : 92090625356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l
LISTI usT
Implied Addressing Operand is taken from a specified

A . :
Mode register

, Adding an offset to the contents of a
B. |Base Addressing Mode | L. i :
specified register

C. Register Mode Ill. Joperand comes from a predefined place
D. mmediate Mode IV. Joperand is in instruction itself
1. A-l, B-Il,C-ll, D-1V
2. A-ll, B-lIL,C-1V, D-I
3. A-lll, B-1I,C-I, D-IV
4. A-1V, B-1,C-ll, D-11I
Options :

920906100193. 1
920906100194. 2
920906100195. 3
920906100196. 4



Question Number : 49 Question Id : 92090625356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el fiem &9 |

fore | foree 1|

A BATRE GBRITAIS | I, [BTovs WRIhIES I1orex 3 ol ol ¢ |
B. [ ugRimArs Ly : Bl

C RS 11 e S P S § oS onaT 3|

D. gfAfewe mre Iv. [3iTo¥E s=aea # fg Mfgd grar e

1. A-l, B-ILC-I, D-IV
2. A-ll, B-lILC-1V, D-I
3. A-lll, B-IL.C-l, D-IV
4. A-IV, B-L.C-lI, D-1II

Options :

920906100193. 1
920906100194. 2
920906100195. 3
920906100196. 4

Question Number : 50 Question Id : 92090625357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: In write-through policy for cache memory, modified cache
blocks are copied back to main memory in their entirely if and when they
must be replaced in the cache.
Statement ll: In writeback policy, cache words are immediately forwarded to
main memory
In the light of the above statements, choose the correct answer from the
options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true

Options :



920906100197. 1
920906100198. 2
920906100199. 3
920906100200. 4

Question Number : 50 Question Id : 92090625357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CACICH A -
e |: Tge 3y Uit ¥ &9 AUl & e Aifgwifs s & sae gA: 39 aE
¥ &1t g afe 9e 9 oRex e § RAARd 8ld 81
IR 11 TZC oF Ultard! J $d g qLd B HHR § BiRars Hd ¢
Y Hel TR A |
1. S 9T | 3R 9T 11 Hel g
2. gTe | 3R 91 11 TAd § |

3. 9199 | el g dfdh- arag 1l §El 2
4. a9 1 7Tdd & A1 ared 11 9al 8

Options :

920906100197. 1
920906100198. 2
920906100199. 3
920906100200. 4

Question Number : 51 Question Id : 92090625358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following mode permits relocation without any change in the
code

1. Indirect addressing

2. Indexed addressing
3. PC relative addressing
4.

base register addressing

Options :

920906100201. 1
920906100202. 2
920906100203. 3
920906100204. 4



Question Number : 51 Question Id : 92090625358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIs 7 HIg YUR fFT fa1 -1 His yrate (@iadam) @1 onfa g
1. TSI SR
2. gAsRs ughlm
3. dieft fiafe R
4, €9 ISR wgiyT

Options :

920906100201. 1
920906100202. 2
920906100203. 3
920906100204. 4

Question Number : 52 Question Id : 92090625359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following facilitates transfer of bulk data from hard disk to main
memory with the highest throughput?

1. DMA based |/o transfer

2. Polling based |/o transfer

3. Interrupt driven I/o transfer

4. Programmed l/o transfer

Options :

920906100205. 1
920906100206. 2
920906100207 3
920906100208. 4

Question Number : 52 Question Id : 92090625359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



218 &% @ 79 AR & I=ad yYUe I deb Sl RIFIR H- &
frofeafaa & & S19-a1 wrae fafe Iugh gan

1. SITHU 3T 313/ 31T TR

2. °ITeRT e S y/3il |

3. P fga+ 3g/ i WM
4, TS 3M13/3{1 RIFTIRUI

Options :

920906100205. 1
920906100206. 2
920906100207. 3
920906100208. 4

Question Number : 53 Question Id : 92090625360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The stack pointer in a microprocessor is a
16 bit register that point to stack
32 bit accumlator

Memory address is the stack

oo =

Flag register used for the stack

Options :

920906100209. 1
920906100210. 2
920906100211. 3
920906100212. 4

Question Number : 53 Question Id : 92090625360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wb WZeR HEHITEER H 1 gl 87
1. 16 fae oM ol ®® & Wiz Hdl 8l
2. 32 fae vegHaeR
3. ORI TS & d gl
4. TP TSR W & foru Iudh fasan & |

Options :
920906100209. 1



920906100210. 2
920906100211. 3
920906100212. 4

Question Number : 54 Question Id : 92090625361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following interrupts is non-maskable in 8085 microprocessor?
1. RST6.5

2. TRAP

3. RSESS
4. INTR
Options :
920906100213. 1
920906100214. 2

920906100215. 3
920906100216. 4

Question Number : 54 Question Id : 92090625361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 | I |l $HIac (39¢XP) A1 HRPHad 8085 HISHIURE H gidl 8|
1. RST6.5

2. TRAP
3. RST55
4. INTR
Options :
920906100213 1
920906100214. 2

920906100215. 3
920906100216. 4

Question Number : 55 Question Id : 92090625362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which processor provide 1 MB memory
1. 16 bit 8086 and 8088
2. 32 bit 8086 and 8088
3. 64 bit 8086 and 8088
4. 8 bit 8086 and 8088

Options :

920906100217. 1
920906100218. 2
920906100219. 3
920906100220. 4

Question Number : 55 Question Id : 92090625362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HI-91 U 1 MB AHRT Iude &l 8l
1. 16 bit 8086 311X 8088
2. 32 bit 8086 3R 8088
3. 64 bit 8086 3R 8088
4. 8 bit 8086 3R 8088

Options :

920906100217. 1
920906100218. 2
920906100219. 3
920906100220. 4

Question Number : 56 Question Id : 92090625363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

LIST | LisT 11

A._ | Stack overflow |[I.| Software interrupt

B. | Timer IIl.| Internal interrupt

C. | Invalid opcode |[lIl| External interrupt

D. | Superior call  |IV] Machine Check interrupt
1. A-IV, B-l, C-lIl, D-lI
2. A-IV, B-l, C-lI, D-lil
3. A-ll, B-lll, C-IV, D-I
4. A-ll, B-ll, C-I, D-IV

Options :

920906100221. 1
920906100222. 2
920906100223. 3
920906100224. 4

Question Number : 56 Question Id : 92090625363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foree 1 9 foree 1 &1 fiaE &4 -
foree | [fore 11
A. fe® siaTual I. [T dmR 3AeY

B. [eT3R 1. [gTeel Y
C. [p1dfere sflupie |11 [udqedd g4evp
D. [gURTER &Td V. [ARA b g1y
. A-IV, B-l, C-lll, D-1I

—k

2. A-IV, B-l, C-1I, D-llI

3. A-ll, B-lil, C-IV, D-I

4. A-ll, B-1Il, C-I, D-IV
Options :

920906100221. 1
920906100222. 2
920906100223. 3
920906100224. 4

Question Number : 57 Question Id : 92090625364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What will be the output of the following program assuming that the array
begins at location 10027
#include <stdio.h>
void main()
{int a[2] [3] [4] ={
{1,2,3,4,56,7,891,1,2)},
{2,1,4,7,6,7,89,0,0,0,0}} ;
printf("/n%u%u%u%d", a, *a, **a, ***a);
1. 1002 1002 1004 1
2. 1002 1004 1006 1
3. 1002 1004 1004 1
4. 1002 1002 1002 1
Options :
920906100225. 1
920906100226. 2

920906100227. 3
920906100228. 4

Question Number : 57 Question Id : 92090625364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafafEd W &1 sir3eye &1 g1 ?
W 1002 STE § L& BT B

#include <stdio.h>

void main()

{int a[2] [3] [4] ={
{1,2.3456,789112},
{2,1,4,7,6,7,8,9,0,0,0,01} ;
printf("/n%u%u%u%d", a, *a, **a, ***a);
1002 1002 1004 1

1002 1004 1006 1

1002 1004 1004 1

1002 1002 1002 1

P L P

Options :
920906100225. 1



920906100226. 2
920906100227. 3
920906100228. 4

Question Number : 58 Question Id : 92090625365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A technique using which a computer periodically collects all the deleted
space onto the free storage list is called
1. Garbage collection
2. Garbage compaction
3. Linked list
4. Free storage
Options :
920906100229. 1
920906100230. 2

920906100231. 3
920906100232. 4

Question Number : 58 Question Id : 92090625365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Aol forad Eored (bger) IHg ¥Hy IR fsferds Wy ot dufegd o
€ bl %R oe # 3u®] 1 $8d 87

1. TTREY Holdg

2. TR HHUFHA

3. s fore

4. T ®IRS

Options :

920906100229. 1
920906100230. 2
920906100231. 3
920906100232. 4

Question Number : 59 Question Id : 92090625366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a linked list, a pointer of the last node contains a special value, called
1. NULL Pointer
2. ZERO Pointer
3. Link Pointer
4.

MNext Pointer

Options :

920906100233. 1
920906100234. 2
920906100235. 3
920906100236. 4

Question Number : 59 Question Id : 92090625366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forae foree o ol Aie &1 Wier WYd deyg Wl ¢ 34 F Hed o7

1. 9 @rgex
2. GIRI @R
3. foie @Eer
4, AR WK

Options :

920906100233. 1

920906100234. 2

920906100235. 3
920906100236. 4

Question Number : 60 Question Id : 92090625367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and other is
labelled as Reason R

Assertion A: Figure 1 depicts the initial AVL tree, while figure 2 shows the
balanced AVL tree after inserting 36

Figure I Figure 2

Reason R: After inserting 36 in the AVL tree of figure 1, LL rotation is
required to balance the AVL tree.
Note: LL rotation represent inserted node is in the left subtree of left subtree
of refrence node 96
In the light of the above statements, choose the correct answer from the
options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A

3. Ais true but R is false

4. Ais false but R is true

Options :

920906100237. 1
920906100238. 2
920906100239. 3
920906100240. 4

Question Number : 60 Question Id : 92090625367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A I UL T : &ET A SFUFYT SIRRFRUTE |
YUY A: 3 1 URIHS AvL & guifdr € wrafds o 2 36 &1 wHIied &
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& (39 ) @
e 1 ferst 2
FRUIR: 36 DI AVL T T GHITEd HA & 91 LL YA Bl oIEd USdl &
AVL &1 B 900 A & U |
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uiar gl
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1. i A 3R R ¥El & 3R R U A= g
2. G A 3R R 981 § qfd R 91 e el 8|

3. AVEl g afdT R Ul 7T B
4. A g6l & Tfd- R 98l 81

Options :

920906100237. 1
920906100238. 2
920906100239. 3
920906100240. 4

Question Number : 61 Question Id : 92090625368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. All AVL trees are binary search trees, but not vice-versa
B. There are four types of rotations to balance the AVL trees.
C. Four types of traversals are possible on tree data structure
D. The smallest elements in binary search is the right most element.
E. The time complexity of binary sort algorithm is O (logn)
choose the correct answer from the options given below:
1. ABCD and E only
2. AB,Conly
3. B.C.Donly
4. B,C,D and E only



Options :

920906100241. 1
920906100242. 2
920906100243. 3
920906100244. 4

Question Number : 61 Question Id : 92090625368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. AR AVL ¢l 1SR 94 ¢ §id § alfde-l 39T [l gl -Tel o
B. AVL Tl 90 4 & o/l IR UPR & AcHA gid g

C. 1 ST WHR H IR UHR & cadd G4d 8|

D. W3 ¥4 # wed Bler uferde wad < ufere g g

E. SISH1 9I¢ UaMTiGH &1 ¥y Sfeddl O(logn) Bldl g1
Hﬁ'ﬂﬂ?ﬂﬁ:

AB,C,D 3T E Hal gl

AB 3R C W&l 8l

B,C 3R D Hgl &1

B,C,D AR ETEI &I

i e

Options :

920906100241. 1
920906100242. 2
920906100243. 3
920906100244. 4

Question Number : 62 Question Id : 92090625369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List I
LISTI LIST I
A. |printf("%d", size of (3.14)); 1. 5

8 Union A {intx, float y,} il a4
printf("%d", size (of (A));
struct B {char x; double y;};
printf("%d", size of (B));

D. |printf("%d", size of ('17); v| 8
A-1, B-1I,C-111, D-IV

A-1V, B-1,C-Il, D-1II

A-1V, B-1I,C-1, D-1II

A-1V, B-1,C-llI, D-II

n.} 2

ol

Options :

920906100245. 1
920906100246. 2
920906100247. 3
920906100248. 4

Question Number : 62 Question Id : 92090625369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fore 1 9 foree 1 &1 e &3

fore | e 1l
A, lprintf("%d", size of (3.14));| L 5
b Union A {intx, float y,} 2 ¥

printf("%d", size (of (A));
struct B {char x; double y;};
printf("%d", size of (B));

D. |printf("%d", size of ('17)); | IV. 8
A-1, B-1I,C-lIl, D-IV

A-1V, B-I,C-ll, D-1lI

A-1V, B-I1,.C-1, D-IIl

A-IV, B-1,C-lII, D-I

1. 2

i

Options :

920906100245. 1
920906100246. 2
920906100247. 3



920906100248. 4

Question Number : 63 Question Id : 92090625370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is
labelled as Reason R
Assertion A: Memory to the array elements can be allocated statically.
Reason R: Memory to the linked list is allocated dynamically but its size can't
be increased or decreased
In the light of the above statements, choose the correct answer from the
options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A

3. Ais true but R is false

4. Ais false but R is true

Options :

920906100249. 1
920906100250. 2
920906100251. 3
920906100252. 4

Question Number : 63 Question Id : 92090625370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRgiaem Ru M E: A AfUPYT € SRR FRUEI
THBYT A: W Ufewicy &1 A0 Wide sfides H Idd g
HR R: foiTs foe &1 3w nfaf2d @A) sieea &1 9&d dfed
DT HTHR YT A1 g1 ol J&dl |
el FW DI g |
1. GFT A 3R R 9! § 3R R I AR B |
2. i A 3R R Ugl g dfdh- R Ul s -Tel & |
3. AWE g AfT R U TET B
4. A gl T8l € i R Wl 81

Options :
920906100249. 1
920906100250. 2



920906100251. 3
920906100252. 4

Question Number : 64 Question Id : 92090625371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct solution of given reccurence.

{
T(n)=9T| n}--n
"t.3‘_f

1. 8(n?d)

2. 8(n?)

3. 8(nlogn)

4. 08 (nlogn?
Options :

920906100253. 1
920906100254. 2
920906100255. 3
920906100256. 4

Question Number : 64 Question Id : 92090625371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafaa e gt &1 ugl wHyE 8
T(n)= ‘J'l'[ = | 1
\3)

8 (n?
8 (n?)
8 (n logn)

o N

8 (n logn?)

Options :

920906100253. 1
920906100254. 2
920906100255. 3
920906100256. 4

Question Number : 65 Question Id : 92090625372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Consider table with 100 slots. colloision are resolved using chaining,
assuming simple uniform hashing what is the probability that the first 3 slots
are unfilled after first 3 insertion

1. (97 x 97x 97)/100°

2. (99 x 98x 97)/100°

3. (97 x 96x 95)/100°

4. (97x96x95) /[3x100°

Options :

920906100257. 1
920906100258. 2
920906100259. 3
920906100260. 4

Question Number : 65 Question Id : 92090625372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ¢ad 100 i I [GaR ST | ARl gwTH R &1 JFd gu
Difcrad & Jaold ¢l Ugd 3 WICH & el U3 & &1 YIS giil &id gd
dH (3) STRREA Fd 87

1. (97 x 97x 97) / 100°

2. (99 x 98x 97) / 100°

3. (97 x 96x 95) / 100°

4. (97x96x95) /|3x100°

Options :

920906100257. 1
920906100258. 2
920906100259. 3
920906100260. 4

Question Number : 66 Question Id : 92090625373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the maximum height of any AVL tree with 7 nodes? assume that the

height of a tree with single node is 0
|

2.3
3. 4
4. 5

Options :

920906100261. 1
920906100262. 2
920906100263. 3
920906100264. 4

Question Number : 66 Question Id : 92090625373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faedl 7 1S ardt AvL & @1 walltie Sars & gR1? JFl &1 U AirS & ¢l &l
FAB08 ?

1. 2
2 3
3. 4
4. 5

Options :

920906100261. 1
920906100262. 2
920906100263. 3
920906100264. 4

Question Number : 67 Question Id : 92090625374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il
LIST | LIST Il

A (200 ] 1L |o([n)
B. |227 | 1. |O(2")
C. [272] . [o(2™)
D. | n" [Iv.]OR2")

1. A-l, B-lll, C-IV, D-lI

2. A-ll, B-lll, C-IV, D-I

3. A-l, B-ll, C-lli, D-1V

4. A-IV, B-lI, C-ll, D-I
Options :

920906100265. 1
920906100266. 2
920906100267. 3
920906100268. 4

Question Number : 67 Question Id : 92090625374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foree | &l fore 11 & e &4
fore 1 [ere i

A 2] 1L o)
B. [227 | 1. 02"
C. [272 . [o(2")
D. | 5" |IV.]O2™)
A-l, B-1lI, C-1V, D-Il
A-1l, B-1ll, C-1V, D-I
A-l, B-Il, C-ll, D-IV
A-1V, B-IlI, C-II, D-I

g R

Options :

920906100265. 1
920906100266. 2
920906100267 3
920906100268. 4

Question Number : 68 Question Id : 92090625375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a file allocation system, which of the following allocation scheme (s) can
be used if no external fragmentation is allowed ?

Contiguous

Linked

Indexed

Stack

Hash

Choose the correct answer from the options given below:

mo N ®w >

1. Aonly

2. AandB only
3. Band Conly
4. DandE only

Options :

920906100269. 1
920906100270. 2
920906100271. 3
920906100272. 4

Question Number : 68 Question Id : 92090625375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR e d HeH 31 a1 81 dl Bigd Ried § $IF-91 Udlbha

f&pH Iugr ghm 7

A. iR

B. foias

C. 38

D. ¥®

E. 89

ol TR 1|
1. HAdA
2. A3RB
3. B3RC
4 D3IRE

Options :
920906100269. 1



920906100270. 2
920906100271. 3
920906100272. 4

Question Number : 69 Question Id : 92090625376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of bits in the tag field of an address is
11
14
16
27

ool

Options :

920906100273. 1
920906100274. 2
920906100275. 3
920906100276. 4

Question Number : 69 Question Id : 92090625376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS USH & o7 fUhes # facy &1 ww favai gl 82
1. 11

2. 14

3. 16

4, 27
Options :
920906100273. 1
920906100274. 2

920906100275. 3
920906100276. 4

Question Number : 70 Question Id : 92090625377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following table of arrival time and burst time for three process
Pa. P1 and P

Process Arrival Time Burst Time
Py 0ms 9 ms
Pt 1ms 4 ms
P2 2 ms 9ms

The preemptive shortest job first scheduling algorithm is used. Scheduling is
carried out only at arrival or completion of process. What is the average
waiting time for the three process
1. 50 ms
2. 433 ms
3. 633 ms
4. 733 ms
Options :
920906100277. 1
920906100278. 2

920906100279. 3
920906100280. 4

Question Number : 70 Question Id : 92090625377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o9 U Py, P; 3TR P, & WI3dd UHY 3R 8% gAY & difad! R f[der
PifoT |

IR WIgad 9HY I Y
Po 0 ms 9ms
P1 1 ms 4 ms
P2 2 ms 9 ms

TR & SMTHA 91 99199 R g e IR Sid B Agfer Sramied
QU fa1 ST 8 o =1 8 & forg Yavsl afd erga < g 2
1. 50ms
2. 433 ms
3. 633 ms
4, 733 ms
Options :
920906100277. 1
920906100278. 2



920906100279. 3
920906100280. 4

Question Number : 71 Question Id : 92090625378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the page fault service time be 10 ms in a computer with average memory
access time being 20 ns. If one page fault is generated for every 10° memory
access, what is the effective access time for the memory?
1. 21ns
2. 30ns
3. 23ns
4. 35ns
Options :
920906100281. 1
920906100282. 2

920906100283. 3
920906100284. 4

Question Number : 71 Question Id : 92090625378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A et e T U9 lee Uidd 2134 10 ms 3R IUHT Tavs AER
UHYY T13H 20 ms &1 TR &Y 10° AN Uad & 915 Us USl o-Xe aidl g dl
Shided HHRT Uaad eIgH &1 817

1. 21 ns

2. 30ns

3. 23ns

4. 35ns

Options :

920906100281. 1
920906100282. 2
920906100283. 3
920906100284. 4

Question Number : 72 Question Id : 92090625379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List | with List Il
LIST | st n
A. |Page replacement Policy I. [Circular wait
B. |Deadlock ll.|Page fault
C. |Scheduling lll|Shortest job first
D. |Dijakstra is banking algorithm |I"I.I"{Dead|0ck avoidance
1. A-ll, B-lll, C-1, D-1V
2. A-ll, B-l, C-lIl, D-IV
3. A-IV, B-lll, C-ll, D-l
4. A-l, B-ll, C-I, D-1V

Options :

920906100285. 1
920906100286. 2
920906100287. 3
920906100288. 4

Question Number : 72 Question Id : 92090625379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foree 1 9 fome 11 &1 @ 630

feree | fere i

A. [0S Raciese giiert . [gPeR 9

B. [gSdl® IIl. [0 Bl

C. [t |11, [E1eE Sifd e
D. [[Suid Rl dlichl SfaRTReH| Iv. [l sfdigSed

1. A-ll, B-1Il, C-I, D-IV

2. A-ll, B-1, C-lll, D-IV

3. A-IV, B-lll, C-ll, D-I

4. A-lI, B-1l, C-1, D-1V
Options :

920906100285. 1
920906100286. 2
920906100287. 3
920906100288. 4



Question Number : 73 Question Id : 92090625380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is/ are shared by all threads in a process.
Program Counter

Stack

Address space

Registers

m 3

. Queue

Choose the correct answer from the options given below:
1. Aand B only

2. Conly

3. DandE only

4. BandE only

Options :

920906100289. 1
920906100290. 2
920906100291. 3
920906100292. 4

Question Number : 73 Question Id : 92090625380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U § it 95w gr e Fafeiead § 4 S Sd)/ad 87
. UM e
wF
e Roet
o
i B
el IR G|
1. A3IRB
2. hadC
3. D3RE
4. B3IRE

M M@ I=

m O

Options :
920906100289. 1
920906100290. 2



920906100291. 3
920906100292. 4

Question Number : 74 Question Id : 92090625381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the size of the window for host A if the value of rwnd (Receiver
Window) is 3000 bytes and the value of Cwnd (Cargestion Window) is 3500
bytes?
1. 3000 bytes
2. 3500 bytes
3. 500 bytes
4. 6500 bytes
Options :
920906100293. 1
920906100294. 2

920906100295. 3
920906100296. 4

Question Number : 74 Question Id : 92090625381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St &1 UIgw 8IE A & fore &1 €7 3R iR [&@S1 (rwnd) 1AM 3000
S15cH € 3R Hurad fdSi (Cwnd) &1 HM 3500 913¢H 82

1. 3000 ST3H
3500 @13cH

3. 500 @ZCH

4. 6500 d13H
Options :
920906100293. 1
920906100294. 2

920906100295. 3
920906100296. 4

Fa

Question Number : 75 Question Id : 92090625382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the sub network address if the destination address is 200.45.34.56
and the sub net mask is 255. 255. 240. 0?

200.45.340

255.255.0.0

200.45.32.0

4, 255.255.192.0

ol b

Options :

920906100297. 1
920906100298. 2
920906100299. 3
920906100300. 4

Question Number : 75 Question Id : 92090625382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR SRET TS 200.45.34.56 © 3R Ga-¢ ARG 255. 255. 240. 0 ¢ al
Hacad Ugd 1 grT?

1. 200.45.34.0

2. 255.255.0.0

3. 200.45.32.0

4. 255.255.192.0

Options :

920906100297. 1
920906100298. 2
920906100299. 3
920906100300. 4

Question Number : 76 Question Id : 92090625383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is true about RARP
1. RARP finds the physical address for a machine that only knows only its
logical address
2. RARP finds the logical address for a machine that only knows its
physical address
3. RARP request packets are unicast

4. RARP reply packets are broadcast



Options :

920906100301. 1
920906100302. 2
920906100303. 3
920906100304. 4

Question Number : 76 Question Id : 92090625383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafEaa 7 @1 91 Rarp F o UE 81
1. RARP fdl 729 &1 Bifsihd U39 Udl & 1Tdl @ o 7iA Rrd
difoidd Tl S o
2. RARP &4t HefH &1 difoldd USH Udl @Fral g o #eii+ b
fiheiipd TSy ol &1
3. RARP Udhcd & TG &1 3FRIY S & |
4. RARP U%cH & SleHRe &I oidd odl ol

Options :

920906100301. 1
920906100302. 2
920906100303. 3
920906100304. 4

Question Number : 77 Question Id : 92090625384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gigabit ethernet has a data rate of
1. 100 Mbps
2. 10 Mbps
3. 1000 Mbps
4. 1 Mbps

Options :

920906100305. 1
920906100306. 2
920906100307 3
920906100308. 4

Question Number : 77 Question Id : 92090625384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

iTTETse 3URAE F SIETYE R BT 82

1. 100 Mbps

2. 10 Mbps

3. 1000 Mbps

4. 1 Mbps
Options :

920906100305. 1
920906100306. 2
920906100307. 3
920906100308. 4

Question Number : 78 Question Id : 92090625385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is
labelled as Reason R
Assertion A: A packet has arrived with an M bit value of 1. This fragment
can be the first one or a middle one but not the last one.
Reason R: If we know the offset value, we can easily find out whether it is in
first one or middle one.
In the light of the above statements, Choose the correct answer from the
options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A

3. Ais true but R is false

4. Ais false but R is true

Options :

9209061003009. 1
920906100310. 2
920906100311. 3
920906100312. 4

Question Number : 78 Question Id : 92090625385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 g g/ R 7T €1 55T A Sifie U= iR R PIRUT B
HfUBYT A: TP Udbe M fae 3R AF 1 & |1y gl g
PRI R: 3R AN B I O & al SHaNT S ¥ Ul T Hahd
© & g ugal g 1 i &1 |
el IR |
1. THI A 3R R 981 8 3R R &1 AR B |
2. GHi A 3R R Ul § b4 R Hel e 78l &
3. A¥el g e R 7T &
4. AT ¢ dfd R 9EI €

Options :

9209061003009. 1
920906100310. 2
920906100311. 3
920906100312. 4

Question Number : 79 Question Id : 92090625386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements (s)

A. The window scale factor is a multiplier that increases the window size.

B. TCP provides process-to-process, full duplex and connection oriented
service

C. DVMRP is a unicast routing protocol that uses the link state routing.

D. Anonymous FTP provides a method for the general public to access filps
on remote site

Choose the correct answer from the options given below:
1. A BandConly

2. Band D only

3. A BandDonly

4. B,CandDonly
Options :

920906100313. 1
920906100314. 2
920906100315. 3
920906100316. 4

Question Number : 79 Question Id : 92090625386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

el ar] & ugdrH|

A. 431 ¥d thael U Aicew@R § o [de8] 915 Sgrai 8|

B. TCP WIEH ¥ WY Bd SUda 3R H-au- SfRT=S Udl UeH Hdl 6|

C. DVMRP U& I&Re W31 Uieiaid & off &t feid we T3fen Iugnt
GG

D. 3T FTP MR &R & ferd RAle |ige W wigd Uy &34 &1 aiidl
PHEETGIE]

el IR I |

AB 3R C

B 3R D

A B3R D

B, C 3R D

fo W P

Options :

920906100313. 1
920906100314. 2
920906100315. 3
920906100316. 4

Question Number : 80 Question Id : 92090625387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The test which was designed to provide a statisfactory operational definition
of intelligence is called

1. Machine Test

2. Computer Test

3. Turing Test

4. Robotics Test

Options :

920906100317. 1
920906100318. 2
920906100319. 3
920906100320. 4

Question Number : 80 Question Id : 92090625387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

de e ol 52 &1 U Fdue-® JaIa-Tdd URHNT e &34 & g
fEegA far T u1, Heard g
1. AYiF %

2. YR TE

3. aftwE
4, Jfefeay ew

Options :

920906100317. 1
920906100318. 2
920906100319. 3
920906100320. 4

Question Number : 81 Question Id : 92090625388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If £x) = xis my friend, and Ax) = xis perfect, then the correct logical
translaticn of the statement, "Some of my friends are not perfect” is

V. (f (x) A-p (%))
2, El.t'(-f{ )’““_':”( )
3 —|(}‘ (x) A—p(x ]
a. 3(~f (¥)r-p(x))

Options :

920906100321. 1
920906100322. 2
920906100323. 3
920906100324. 4

Question Number : 81 Question Id : 92090625388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g A0 = xTRI A &, 3R AW = x T 8| da TE! AIfdhas 3aIg 39 a1a &1
TS "3 AR I quf e &7 |

Al \:’_T[.f'(v")ﬂw[ﬂf])

5 EII(_}’ x)An—p(x )

3. _'(’{ ‘ﬁ‘_'lu )]

4. (A () A-p(x)

Options :

920906100321. 1
920906100322. 2
920906100323. 3
920906100324. 4

Question Number : 82 Question Id : 92090625389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Al technique enables the computer to understand the associations
and relationships between objects and events?

Heuristic processing

Cognitive Science

i

Relative Symbolism
4. Pattern matching

Options :

920906100325. 1
920906100326. 2
920906100327. 3
920906100328. 4

Question Number : 82 Question Id : 92090625389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DIF G Al B S LR ] Higuided AR geATd & WIa AR K< &1
A3 B &mdl UeH &l 87

1. ggRies Uk

2. HhfAfed ady

3. Rafea Rmarfea

4. e A

Options :

920906100325. 1
920906100326. 2
920906100327. 3
920906100328. 4

Question Number : 83 Question Id : 92090625390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the two types of search used to solve a problem in Al
1. Un-informed Search and Informed Search
2. Linear Search and Binary search
3. Depth-first Search and Breadth-first Search
4. Heuristic Search and Iterative Search

Options :

920906100329. 1
920906100330. 2
920906100331. 3
920906100332. 4

Question Number : 83 Question Id : 92090625390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al T UTS@H &1 80 &34 & (oY ®H 9 g1 @il 394 [T o &2
1. 3FSABHS T 3R FAHEHS T4 |
2. fof R 94 oiR a8 9|
3. ST ¥ 94 3R 38y e 94|
4. gglifee®d |9 oIk gexfed 94|

Options :
920906100329. 1



920906100330. 2
920906100331. 3
920906100332. 4

Question Number : 84 Question Id : 92090625391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the components of an intelligent agent?
1. Perception, Environment, Agent and Goals
2. Sensors, Actuators, Environment and Goals
3. Sensors, Effectors, Environment and Goals
4. Perception, Actuators, Environment and Goals

Options :

920906100333. 1
920906100334. 2
920906100335. 3
920906100336. 4

Question Number : 84 Question Id : 92090625391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcTucie Uole & 3faad (@IiH<y) &1 87

. TRUWA, 3AdRRHE, TSl 3R e |

. R, T, SARREE 3R MieH |

. YW, 3hdex, 3AIIEHE 3R Med |

. IR, TRICed, SIaRRHE SR e |

Options :

920906100333. 1
920906100334. 2
920906100335. 3
920906100336. 4

b o P —

Question Number : 85 Question Id : 92090625392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Artificial Intelligence, knowledge can be represented as
A. Predicate Logic
B. Propositional Logic
C. Compound Logic
D. Machine Logic
Choose the correct answer from the options given below:
1. Aand B only
2. Bonly
3. Aand Conly
4. Donly
Options :
920906100337. 1
920906100338. 2

920906100339. 3
920906100340. 4

Question Number : 85 Question Id : 92090625392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BRI Seferorg # §9 (i) aidr s -
A. Hidlde difvid
B. UIUiferaTd dfold
C. WIS difvid
D. Af¥F dffor®
el IR g1
1. A3RB
2. $ddB
3. ASRC
4. HAAD

Options :

920906100337. 1
920906100338. 2
920906100339. 3
920906100340. 4

Question Number : 86 Question Id : 92090625393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

LISTI LIST Il

A. [Expert System l. | Pragmatics

B. [Planning Il. Resolution

C. [Prolog lll. (Mean-end- analysis
D. |Natural language Processing| IV. [Explanation Facility

A-1V, B-l, C-li, D-ll
A-1V, B-l1, C-llI, D-
A-1V, B-lll, C-lI, D-I
A-ll, B-1ll, C-IV, D-

P L by

Options :

920906100341. 1
920906100342. 2
920906100343. 3
920906100344. 4

Question Number : 86 Question Id : 92090625393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foree 1 &1 foree 11 @ i -
fore | [feree i
A, [fa2eg yoret . Iﬁ?‘rfrﬁﬂ
B. [ATST 1. [RiTeaere
C. [aram 11, [erferir
D. FeRa ot U | 1v. [oame giaur
1. A-IV, B-I, C-II, D1l
2. A-IV, B-II, C-lll, D-I
3. A-IV, B-Ill, C-1I, D-I
4. A-ll, B-lll, C-IV, D-I

Options :

920906100341. 1
920906100342. 2
920906100343. 3
920906100344. 4

Question Number : 87 Question Id : 92090625394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following is not a symmetric cipher model?
Caesar Cipher

Playfair Cipher

Hill Cipher

Transposition Cipher

fu L0 o

Options :

920906100345. 1
920906100346. 2
920906100347. 3
920906100348. 4

Question Number : 87 Question Id : 92090625394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prafifad 7 | $19-31 gafia R wiga =6 &2
. Foor R

. HIR R

. fea R

. SR R

B L I

Options :

920906100345. 1
920906100346. 2
920906100347. 3
920906100348. 4

Question Number : 88 Question Id : 92090625395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a classical encryption technique
1. AES
2. RSA
3. Caesar Cipher
4. Twofish

Options :
920906100349. 1



920906100350. 2
920906100351. 3
920906100352. 4

Question Number : 88 Question Id : 92090625395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofafaa § @ $19-9 saisa e ufea g
1. AES
2. RSA
3. foor R

4. bR

Options :

920906100349. 1
920906100350. 2
920906100351. 3
920906100352. 4

Question Number : 89 Question Id : 92090625396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a feature of playfair Cipher
Substitution of plain text letters with Cipher text letters pair
Keyboard based encryption

No character repetition

- 1

Transposition of the plain text letter

Options :

920906100353. 1
920906100354. 2
920906100355. 3
920906100356. 4

Question Number : 89 Question Id : 92090625396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafeiad o § -9 @R e &1 R T8l 8
1. FOHR eFe 31eR &1 IR eae S1eR & Sl & |1y ufdwige
2. PEIS %8 UfpwH
3. @5 qul aIgrd gl
4. @ CRE &R BT WIHITRI

Options :

920906100353. 1
920906100354. 2
920906100355. 3
920906100356. 4

Question Number : 90 Question Id : 92090625397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement |: The playfair cipher uses 7 x 7 matrix of letters to encrypt
messages.
Statement ll: Hill cipher is a type of block cipher
In the light of the above statements, choose the correct answer from the
options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

920906100357. 1
920906100358. 2
920906100359. 3
920906100360. 4

Question Number : 90 Question Id : 92090625397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



93 G pya R E:
FYA | W BT 7 « 7 AfeaH & el |
FYA II: i5d R sl R FTUPR ¢ |
JURIFd YAl & HTeld H, ol FR &1 TG+ DI |
1. SYF 1 IR BY 11 S Tl B
2. BYF 1 SR BYF 11 T Tad 6l
3. FYT 196 g WHYF 11 Tad ¢
4. YT I7AA § R HYT 1 T 2

Options :

920906100357. 1
920906100358. 2
920906100359. 3
920906100360. 4

Question Number : 91 Question Id : 92090625398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of a classification problem
Predicting the price of a house

Detecting spam emails

Forecasting the stock market

F o o=

Analyzing customer churn

Options :

920906100361. 1
920906100362. 2
920906100363. 3
920906100364. 4

Question Number : 91 Question Id : 92090625398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofafaa § ¥ S19-91 saRiifthe- TAET &1 380 &
1. R & I BT THE T
2. T emails &1 Udl T
3. YR 9NIR $I yiasgarolt
4. UTEP Hy= & fazawo

Options :

920906100361. 1
920906100362. 2
920906100363. 3
920906100364. 4

Question Number : 92 Question Id : 92090625399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct about F1-score

It is 1.0 for perfect classifier and 0.5 for worst case
It is 1.0 for perfect classifier and 0.0 for worst case
It is 0.5 for perfect classifier and 0.5 for worst case

oW o=

It is 0.0 for perfect classifier and 1.0 for worst case

Options :

920906100365. 1
920906100366. 2
920906100367. 3
920906100368. 4

Question Number : 92 Question Id : 92090625399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F1 R SR A RRf@a d s ad 2
1. U8 Ual aiffR® & [T 1.0 3R TE HH (case) P W 0.5 81
2. U8 Yol aifieRes & fold 1.0 3R WE FY (case) P [0 0.0 §1
3. Ug Ugl i Re® P o8 0.5 3R WE Y (case) F 1T 0.5 &l
4. U8 Ug! gifeR® & o 0.0 3R WE HY (case) & AT 1.0 €1

Options :
920906100365. 1



920906100366. 2
920906100367. 3
920906100368. 4

Question Number : 93 Question Id : 92090625400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F1- score is used in binary classifiers. F1 can be defined as

i precision+recall
" 2xprecision xrecall

2. Fi1=(precision+recall) x2

2xprecision xrecaill

3. Fi
precision+recall
& Fie 4 xprecision+trecall
' precision xrecall
Options :

920906100369. 1
920906100370. 2
920906100371. 3
920906100372. 4

Question Number : 93 Question Id : 92090625400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
F1- TR 91331 qardieraed H SYRT 81T ¢ |

I Fie precisiontrecall
" 2xprecision xrecall

2. Fi1=(precision+recall) 2

_ 2xprecision xrecall

3.
precisiontrecall

4 xprecisiontrecall
precision xrecall

4. Fi



Options :

920906100369. 1
920906100370. 2
920906100371. 3
920906100372. 4

Question Number : 94 Question Id : 92090625401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Geometric means to compute G-score is

1. G=precision+recall

| e

; 2Eprecision=r !

2 G- ||" pre‘i*r{.s:m? recail
\' precision+recall

3. G= 2xprecisionxrecall

4. G= \/ precision*recail

Options :

920906100373. 1
920906100374. 2
920906100375. 3
920906100376. 4

Question Number : 94 Question Id : 92090625401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wiftfas 1Y G-WHR 31 Al & faw @

1. G= J precision+recall

[ b

! A Eprecision=r I

2. G= II A p? e?r{.'smr? Fe?t‘_r.‘:h.
\' precision+recall

3. G= 2xprecision=recall
4. G= \]' precision*recail
Options :

920906100373. 1



920906100374. 2
920906100375. 3
920906100376. 4

Question Number : 95 Question Id : 92090625402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is
labelled as Reason R
Assertion A: Advantage of hierarchical clustering over k-means clustering is
that your clusters can be of any size or shape.
Reason R: Disadvantage of hirarchical clustering is that there is no natural
way to assign a new point to an existing cluster.
In the light of the above statements, Choose the correct answer from the
options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. Ais not correct but R is correct

Options :

920906100377. 1
920906100378. 2
920906100379. 3
920906100380. 4

Question Number : 95 Question Id : 92090625402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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% R: GO FaueRT &1 759 98 ¢ & Hivgl gavel &1 941 fag Ay
B & BIg Al el g
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1. AR RGH T8I 8 iR R A $| Tl TS &

2. A SR RTHI HEl & iR R, A D1 Hel AARE e 81

3. ATEIRWRRES AR
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Options :

920906100377. 1
920906100378. 2
920906100379. 3
920906100380. 4

Question Number : 96 Question Id : 92090625403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is
labelled as Reason R
Assertion A: Hierarchical clustering is a general class of algorithms sharing a
common structure.
Reason R: Hierarchical clustering is not Agglomerative clustering
In the light of the above statements, Choose the correct answer from the
options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. Ais not correct but R is correct

Options :

920906100381. 1
920906100382. 2
920906100383. 3
920906100384. 4



Question Number : 96 Question Id : 92090625403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR aEa Ruu § : A SfiHYA § 3IR R FRUTE |
fUF YT A: BISIRBTT FAHE T NN &1 Ue HHR UHR g ol
A TITA1 1 T BT 2|
PRI R: BEIRIGIA FadeyT Warmied gagefi 78l gl
el I 11

1. GHFT A 3R R U8l & 3R R U ARSI € A T |

2. GFT AR RUEI § i R UG RSN A8l g A FT |

3. AYEl g Al RES LT B
4. A gl gl g dfe- R T8l g

Options :

920906100381. 1
920906100382. 2
920906100383. 3
920906100384. 4

Question Number : 97 Question Id : 92090625404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is
labelled as Reason R
Assertion A: K- means clustering starts with d- dimensional space.
Reason R: It partitions them into compact and overlapping clusters.
In the light of the above statements, Choose the correct answer from the
options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. Ais false but R is true

Options :

920906100385. 1
920906100386. 2
920906100387. 3
920906100388. 4



Question Number : 97 Question Id : 92090625404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g g R U & - A YUY € 3R R FRUT G|
AP YA A: K- T T T d-SEA=Hd WY ¥ I% eidT ¢
PRI R: T8 3] SIHUGE 3R i aaeey § faHior & gl
el IR I |

1. 3T A 3R R T8l & 3R R A &1 el e g

2. Gl A 3R R el § T R, A &1 Ja] e el g

3. AYEl ¢ dfdpd RS g

4. AT g AfFT RS B

Options :

920906100385. 1
920906100386. 2
920906100387. 3
920906100388. 4

Question Number : 98 Question Id : 92090625405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and other is
labelled as Reason R
Assertion A: There is difference between clustering and dimensionality
reduction.
Reason R: Clustering is generally done in order to reveal the structure of the
data, but dimentinality reduction is often motivated mostly by computational
concerns.
In the light of the above statements, Choose the correct answer from the
options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. Ais false but R is true

Options :

920906100389. 1
920906100390. 2
920906100391. 3



920906100392. 4

Question Number : 98 Question Id : 92090625405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRgaemRum g A ey 8 SRR FRUTE|
HTHBYT A: T SR SR Rea | sfdv gar g |
PRV R: TRe 1 UH HH H FH: {601 §1dT 8, dfd srsHg-iec
HioIfhy I ¥ Urg: Wi gid 81
el SR I |

1. GFTA 3R RTBI 8 IR R A &1 Tl RS 8

2. GHFi A 3R R Ul & T4 R, A &1 Yol el el e

3. AGSI g RIEd &

4 ATTAE, RUS B

Options :

920906100389. 1
920906100390. 2
920906100391. 3
920906100392. 4

Question Number : 99 Question Id : 92090625406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average case complexity of Selection sort, Quick sort and Radix sort is
respectively;

1. O(n?, O (n?), O(nlogzn)

2. O(n?), O(n logzn), O(n logzn)

3. O(nlogzn), O(n?), O (n?)

4. O(n logzn), O(n logzn), O(n logzn)

Options :

920906100393. 1
920906100394. 2
920906100395. 3
920906100396. 4

Question Number : 99 Question Id : 92090625406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

3 9 Sfedd Fada- I1e, [ Fid R e 41 T HAN: § -
1. O(n?), O (n?), O(nlogzn)
2. 0O(n?), O(n logzn), O(n logzn)
3. O(n logzn), O(n?), O (n?)
4. 0O(n logzn), O(n logzn), O(n logzn)

Options :

920906100393. 1
920906100394. 2
920906100395. 3
920906100396. 4

Question Number : 100 Question Id : 92090625407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
k!
Apply the master theorem on T(n)=8T (% |+n3
ot )

O(n%)
o(n?)
O(n? logzn),

oW

O(n logzn)

Options :

920906100397. 1
920906100398. 2
920906100399. 3
920906100400. 4

Question Number : 100 Question Id : 92090625407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR fUORA A &3
T(n)=8T -fﬂ]+n3
|2
O(n?)
O(n?)
O(n? logzn),

L

O(n logzn)

Options :

920906100397. 1
920906100398. 2
920906100399. 3
920906100400. 4



